A A D

Year: 1999 8.
1. By how much does [j7./1zs excced
Y32 ?

F ¥ 17, Jia fee afues 22
2(\‘{_—5) {b] 2(\{54\‘5)
© 322 (d} V3-242

2. The value of J5, 0.5 _ L is: 9.

\_1'5+2Jg

\J|5+2J_*m EFI‘HHEFJT??
@ 22 23
(© 1445 V5 -1

3. The value of J2_4+%+‘ﬂ2_8is : 10.

2 ¥ea . 48 mm a2

{(a) 12 (b} 16 (c} 18 {d) 24
4. 2332- 3% + Ysp0 is equal to 11
2%32- 3%a +¥s00® TR ¥
@ 46 b 3424
€} 634 {d) 916
3 2

5. Simplify :
2 -5+3

12,,

3 2
2+33 2—;3

2-543

T F ;

3
ke

(b) nﬁs@ m
@ G "&

43 0'16 ia(243)0 04
is equal to : %) I
(243)" ““%@W s

1
(@) =-5V3
2

fc) 1

6. The value of

TR &7 14.

{a) 0.16

7. The value of (256)%'% x(256)°%% i
(256)°18 x(256)009FT W w1 77
{8l 256.25 (b) 64 (c) 16

®3 {0 5 (d) 0.04

(d) 4

///II////II///////A’/////////?/////W//////////////4(/////////////////////I////I///////I////////////////////////////7////////7////////////////#//”////

POWER, INDICES & SURDS

’/ﬂ/////I////I/////////I//////////I////I////////A//A-‘I/////Il////////I///////////////I///I//////II//A“////‘//7////////////////'I////II/////I////;W/////////////I7////////&’////////////////7///1_‘////[////17///;7////' AR A fl%

The simplification of

0.06 x 0.06 x 0.06 — 0.05 x 0.05 x 0.05
0.06x0.06 + 0.06x0.05 + 0.05 x 0,05
0.06 x 0.06 x 0.06 - 0.05x 0.05 =% 0.05

0.06 x 0.06 + 0.06 x 0.05 + 0.05 x 0.05
+ w82

@ 1 t) 0.1
(c)y 0.01 {d) 0.001
Simplify :

0.03 2 0.05x0.05-0.04 x 0.04 < 0.04

13.

15.

0.05 x 0.05 + 0.002 + 0.04 < 0.04
T H :

0.05x0.05x0.05-0.04 x0.04 x0.04

0.05 x 0.05 + 0.002 + 0.04 x 0.04
(@ 1 ) 0.1
i) 0.01
Simplify ( ¥ & )

5.32x56+5.32x 44
(7. 66) (234)

@ 7.2 (b} 8.5 (c}af&é @ 12
. Which eone of the fd,lo ng is the
least ? M&

V3,92, J_ and

T & T wﬁqﬁt%‘»‘

V3,32, Jékg;:

ok, 3§ e W W

’ @ ¥

{©) g
w Whiclf' one of the following is the
blggest ?

W e 6= and 12555,

P AT am AW
¥4.% . G5, and 13245
@ ¥4 v Yo

© $s (@ 1%2as
Simplify (@d ®{) :

T[]

(a) 52 (b) 5* () 5° (d) 52

If 272~1= {243)° then the value of n
is

g 272 1= (243P22, A A F TR TA T
8 3 b6 [©7 id9

If 38 =272 the value of x is :

e 378 =072 & G x H AE T E7

@) 7 b3 (©-2 (1
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{d) 0.001 4 ,-ﬁa\
4 b on W

B e A o A e

Z
g
é

\\\\\

Year : 2000
16, (\[§~\/Z—\/£) equals :
(VB -4 -V2) % a7

@ 2-a2 B J2-2

© 2 o ’;{.;1] -2
17. 82 is equ8l th; %

1 w?
Sﬁg A 21—
() ' 3 (b)
¥
A % ' 3 1
g: % @ 37

S%he simplified form of

“ (16%240167%%) 5

(163"2 N 16‘3"2) 1 Tk A #7
4097
@ © O 5
6
) 1 @ 507

19. 16%%is equal to :
1634 F w87

@ 42 B8 © 242

{0.01024)'/% is equal to :

{0.01024)1/% F TR 2?

@ 4.0 {d} 0.04

() 0.4 (d)} 0.00004

21. (16%'s x20%) j5 equal to
(16915 x206) F WA 27
(@) 2 (b) 16 (¢} 32

2 Y2
. (64) 3 X(Z] is equal to :

d) 16
20.

(d) 64

3 -2
(64) 3 x GJ % w87

1 1
fa) 1 B2 ©3 Wi

1442 1-42
m+ m simplifies to :

1+J_ l—J«:!
[7;;7 W]*m%’

5]




24,

25.

26.

27.

28.

29,

30.

&) J5+J6 B 2J5+6

© J5-J6 d 2/5-3J6
2+\E 2-J§ \E—l
[2—J§+2+J§+J5+1 simpli-
fies to :

2+J§ 2-43 J3-1

(B 3 ot
L

@ 2-J3 B 243

c} 16-43 @ 40-43

[Jmsr [JEJér |
m + m is equal

to:

(Jwar [JE-JEF )
TTS— A * T_J'5+ 3 ® T &7

fa) 64 (b 62 (c) 66 (d) 68

(6.5 x6.5-45.5+3.5x3.5) is equal to
{6.5 x6.5-45.5+3.5x3,5) % Ww 7
@ 10 B9 @7 Ao

(7.5 x 7.5 +37.5 +2.5 x 2.5} is equal to:
{7.5 x 7.5 +37.5 +2.5 x 2.5) & 9w ¥?
@) 100 (b 80(c} 60(d) 30

1.
(36)¢ is equal to :

(26); ® T 7
) 1

© Jo

(b} 6
@ Yo

813
simplifies to :
125

( 8
125

;mx\f@

c) 625

{a)

The value of
(256}0,]6,:(16’0.18 is
{256)%16x(16)°18 FT AR A@ T
(a) 4
() 16

(b) -
(d) 256

32.

31. The value of

J(J_ J_)(JEHF)
5+v24

J(JE-JE)(JLJE)

5+J2_4

@ J6-42 B 6+ 2

el Jo-2 @ 2-J6
Simplify ( 9@ % );

1
2 B
[643 x 27 +3°]

A0 B2y
The value of

&1 HA TG F+)

1

- o) 7—

is :

J(nz JF) J

34. The value of

w1 AR 91 FH
(a) O b1

&

11+ 2430 -

(a) 26

'\CJ 1+.6 1+ .5
implify ( @@ &)

él )3 (47} ( )3“33-(1.5)&4‘7)(3.8

{1.5) +(4?

37.

(3‘3) -15x4.7-4.7x3.8-3.8x1.5

(a) 0 M1 (c) 10(d) 30

36. Simplify ( 8 ${ ) :

(6. 25)2 (0 0144)2 +1

(0.027)3 x (81)4

@ 0.14 (b 1.4
Simplify ( 9@ ¥ );

©11 (@14

0.41x0.41x0.41+0.69 x0.69 x 0.69

0.41x0.4]1-0.41x0.69 +0.69 + 0.69

(@ 0.28 b 1.41
i) 1.1 (d} 2.8

38.

39.

41.

42.

43.
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Which of the following number is
the least ?

(0-5)2,\/0‘49, 0.008 , 0.23
T 9 ol 9 e R W 7
(0.5Y . Jo.49 , ¥0.008 » 0.23
() {0.5) b Jo.a9
© o008 {d) 0.23

Arrange the following in descend-

Ya,42,%,4

ing order :

® @%ef@f
13, 5 5 455 2
M@ﬁeﬂ@

Fhe greatest of the numbers

(2.89)°5,2-(0.5)2,

051,\/5 is :

-2
2

T § e W W owA-d -
(2.89)°5,2-(0.5)2,

1+

1+ N3
.
2

(a} (2.89)0.5 (b} 2- (0.5)°

0.
© 1+ 51

1-2
2

Among JE’%’:;,;‘E,?E which one is

the greatest ?
W ¥ wed 9=t "wewm wha-wt -

@ 45 B o
© ¥ @ ¥

If (125P% = (625) - V* = (5)*, then the
value of x is

AR (125)%3 x (625) -V = (S)* &, A x H
T A =

fa) 3 b 2
The value of

(243)0‘13 x (243)0'07
(7)025 i 49)0‘075 § (343)0‘2

@ 3

f¢c) 0 (d}1




0.13 0.07 vt o=1 @ 189 (b} 180
(243) 77 x(243) V2= 14143 {c) 108 {d) 198
0.25 0.075 0.2 =1 _ w1 O AT
O @9 x a3) Baala-afim o LB 3 aB
. - 15
“rﬁ“aﬁ' @ 8.484 b) 8.526 FBadz el J5adls
3 = (c) 8.426 () 8.876 to:
@ = & 3 51. If J15 = 3.88, then what is the value Js 33 a2 .
© 3 ) 22 Jg 33+3 ]51—] 35+J
1- = of =
7 7 3 0
44. The value of : @ ® 2JE
' = a5 - %.a}ﬁmmwﬂ? © 2410 @ 2/e
~V3+{3+87+4V3 is Vis -3.88 3 58. The value of
a) 1.203 ) 1.2934 1 &Y .
- % A AW FH
J-V3+y3+8Y7+4V3 {c) 1.29 (d) 1.295 J3.25+ 125 +43.25
fa) 1 ) 2 {c} 3 (dy 8 52, The rationalising factor of 3.3 is
: 1 1
45. 30.004096 is equal to 3.3 1 IFOEEET e a1 . .
V5,254 V425 62544525 °°
Joo0a096 F T a) % b 3 1
4 0.4 + +
:3 0.04 ?;I} 0.004 () -3 @ 3 5+v2.25 4.25+43.25

46. The approximate value of 53. 2 . 2 - 2 is equal 1 . L
12 2v21 J525+44.25 V62544528 o0
2428 JQ_S 18 2,'_,?2_‘_ 2+ #-‘ER'HI?I d T

fa) 1.00 ® 1.25
aiz 221 - @ 2 (bl () 1.50 d 2.25
228 Jog oo © 2 (d} -
@ 1.0727 b} 1.0606 59. S is simplified to
{©) 1.6026 (d) 1.6007 -
2.3x2.3x23-1 09 - o.008 P 3t
- L - ?

AT an23r23s1 Semalte T T
23x23x23-1 o ~75% of 2.80 W (a) -2 o -1
23x23123+1 ¢ Rl (e 1 @ 2
@ 1.3 () 3.3 (0.3 (422 (b} 0.01 10.3x10.3x10.3+1

48. The ascending order of d 0.001 60, 103103 -103+1 © equal to
2_ 0.5 3, \ 2’ %f H
(2.89)°%,20.5F, 3 and ¥0.008 P 10.3x10.3x10.3+1 2
(2'89}0'5'2‘;(;22»\5 R 3Yo.008 103%103-103+1 & !
SRR FH |

2 2 @} 9.3 t 10.3
@) 2-{0.5p, . ¥o0.008 , (2 (%3.5) - %8.75+(%2.5) l is {c} 11.3 4 12.3
® 57008 .(2.89°°, . oy 1A9X149-051x5.1 oqual to:
{ {f— A, @28 o5 (%3_5;,%2_5) 149-5.1
% ¥o.00 ! ) _ ) 1.49x14.9~0.51x 5.1 < v
y_ 2
@ V3.%0.008. 2 {(%’3‘5) -¥8.75 +(32.5) ] 1 T 14.9-5.1
- @) 0.20 ) 20.00
49. The greatest oney J_ Jg is
b =) {©) 2.00 {d) 22.00
Ee L e Elﬁ"l W 2:- ;1'? 5375 M) 1 () 6 (@5 62. (0.04)'5 on simplification gives :
N 2[3? , y 56. The \;alue of Egiog%-l-saﬂ mwﬁ(:,!?gm:—
b} 3 -3 -3
@ J2 (b} 33 (342 BY°o(a-2 JE) 13 (c) 250 (d) 625
© %o @ s (o. 96) ~(0.1)°

S0. Given f2 =1.414. The value of (3 . 2\/5) (3 2\/—) A FE 63 (. 96) +0.096 + (0. 1)2 is simpli-

V8 +2432 - 3,128 + 450 is L fied to :
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3 3 1 i 1 3
(0.96)" - (0.1) + + + (2.3)" +0.027
: 73 ] \[g+ﬁ ﬁ+\/§ J§+\/§ 75. 2 is equal to :
(0.96)" +0.096 +(0.1) (2.3)" -0.69+0.09
{a} 1.06 by 0.95 (A e
a} 1. . 3
{c) 0.86 (d) 0.97 a3 (b} 33 (2.3)" +0.027
2 * T &
64 -0.008 © 3-v3 d 5-3 (2.3)" -0.69+0.09
64. The value of 16+08+004 15 69. {16)°15 x{16)°%* x{2)°? is equal to . {a) 2.60 ibj 2.00
(16]0.16 ’-{16]0'04 x(2}0.2 33‘" T ‘é’| [C] 2.33 'd] 2.80
_64-0008 A R tali (b} 2 . 571x5.71x5.71 - 2.79x 2.79 x 2.79
16+0.8+0.04 s ﬁ@} 10 C571x5.7145.71x2.79 + 2.79x 2,79
@) 2 (b} 3.8 70. Simplify (V@ *3):- in simplified form is :
{c) 0.6 (d) 4.2
1 1 57]><57l><57k-?'279x279x279
Year : 2005 V100 - Voo ~ oo - Jos 571x57}+§ %79“27%279
65. When (4+\E) is presented in the 1 1 () 8 5 [b} 8.6
N -
form of perfect square it will be equal Jog - o7 Jor - 56 (€) 2.82 . 4 (d) 2.92
to : 77. The vqlue of
1
w4 (4+47) Wl i @ w o LR SN (t.s 44&47) +(33) ~3x1.5x4.7x38
2
% @t 9% Fr o @ fras sow w2 (a) 10 (b} (c) 13 (d) 11 =a ) aa) -15x47-4.7x38-38x15

(2+v7)" ® (;3

(L (6

66, The simplified form of

7

2 5
NN N TN N TN

N 1]”

(1.5)3 + (45*)3 + (&8)3 ~3x15x4.7%38

a&a

in sn‘nphﬁed form equals tg™

1
|:\_)2+33—35+

is :

1A

2 71 s © %, “%-”‘j& °
746 i2-F iz 72, BE"'KJ_’@%'X\/_] is equal to
1 THEAHI T 07 ' 79
@5 M2 @1 @o [?ef%’xﬁ%xf] % m
% w(a} 6% (b} 6576
1 . fc] 6 {d) None of these
&67. | — is equal to
(QJ e % (3 4 = 7 80.
...2}
1 % (-2
5 43, I 2 } is equal to :
(%]2 + T 8 -2)
o)
\? v {(—2)[ 2)} % w $)
(@) T ' (@) 16 b) 8
{0 - (d -1
) 2 l 74. The value of 21
0.796 x 0.796 - 0.204 x 0.204
68 75+_J' 0.796 - 0.204 '
1 1 0.796 x 0.796 - 0.204 x 0.204
+Jg+ﬁ NN J§+J§i3 0.796 - 0.204 A
#
1 &7
L o,o1 fa) 0.408 (b} 0.59
J3+da Ja+ 5 V5446 c) 0.592 (d) 1

|
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- (1.5)2+(4‘7)2+(38)2—1.5x4‘7—4.7x3.8—3<8x1.5

.|

FI HF T F
a) 0 b1

(0.73)3 + (0‘27)3
(0.73)2 + (0.27)2 -(0.73) x (0.27)

(c} 10(d) 30

simplifies to (FT T 30 27)
@ 1 {bj 0.4087
©) 0.73 {d} 0.27

[3 - 4(3 - 4')"is equal to ;
[3~4(3 - 47 F MR R
@) 7 -7
1 1
&) 5 d -=
What will be the number of two dig-
its made from the units and tens

digits of the expression 21n-64n
where n is a positive integer ?

= A T2 I G o & S e 2
-6 tEE AN T FE Y TN 2, W o

TH AR Ui B
{a} 10 (b) 100
) 30 ) 02

The smallest of Jg.+.5.7 +/6 .
Vio+ 3 and f11.42 is:

R % gEd WA wwn wm o# .-

BT, il

J1+42

@ J8+ys5 b J7 46
V10 + 3 @ Vi1ed2




82. Which of the followinng is the larg-
est number ?

V2, ¥3.44. ¥

2. 3.4 .46 v 4 v & wom
FR- ¥?

@ 2 b ¥
(cr 44 @ %6

83. Which is the greatest among

(15 7). (53 - 1) (4 - )
and (\[g—\lg) ?
(5 - 7). (5~ ) . (5 5)

e (V5-43) 2 ¥ & W w wen
HH-5 &

J19 - 17 J13 - 411
$7-5 @ V5-3

84. The greatest number among i’E \E, QE
and 1.51s :

¥2,3.% w15 T 9 W T
e - 2
@ 32
© 3

85. The greatest of

S

) 1.5

J2.83.33.4s HaTh @E=:

@ 2 b %
() ¥a d) Ys
86. If +J_- ‘EHJE
LIfx = ﬂT iy
- 5+43
then (x+y} equals:
J5443 J5 - J'

T EE TR t

(xe+y) 1 W T R?

(@) 8 o} 16 -

© 25 L 2(J§+ J3)
87. Which of the folldwmg is closest to

Ja? i

¥ FR-w wen \[_ % fmaan 32

(a) % b}y 1.75

) %% ) 1.69

o1. ( 715

Year: 2006
88. 0.75 x 0.75 - 2 x 0.75 x 0,25 + 0.25
x 0.25 is equal to
0.75 = 0.75 - 2 % 0.75 = 0.25 + 0.25
* 0.25% TG B
{a] 250
{c) 2.5

(bl 2500
(d) 0.25

89. The greatest one of J4, Y4, Y6

andggis
T ¥ mER W wem se oA ¥y,
% 46 G
@ 4
© %6

b Ya
) 95

Year : 2007
12

90. J‘ is equal to

3+45 + 242
12

T2l T T
) 1-v5+y2+\16

M 1+454+V2-10

(@ 1+y5+y2+10 .
@ 1- 5 - V2 +F

"i‘ﬂ'm
IT J‘T] is equal to
} F T 3

{b] 3

d 3-+3

92. Jg 215 is equal to:

h '*/_8 _ofi5 W

(@ J5+3 b 5-43
© 5 - (d) 3-5
_ 1
Q3. 9 5 is equal to
. 14\}2.22
2&2‘2
_ .
9 2
o 44222
oo ® T 3

&) 32 b8 )1 (d) O
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Boar

a2 2d6 28
94, \E::E 75:+UE+5 is equal to
sfa 2/ 23

T F B s T
@ 3 B2 © 0 @3

[ 1 1 1 1 ]
95, | ——+-——+—+———+

1.4 4.7 7.10 10.13 13.16
is equal to

1 1 1 -1 1
_f —— Eﬁ
[1 4 47 7.40 10.13 13.16}

R
5
@ 5 e ® o5
"3 | 41
ic} '8' : d) 280

137><137+133><133+18221

N 137x137x137-133x133><133
# s equal to

137 2 137+133x133+18221
137 x 137 137 -133 x 133 x 133

% T 2

fa) 4 b 270
1

{c) ‘—l‘ @ 555

275!2 T53x2.75-2.25x2.25x%2.25
97 275x‘2 75+2.75x2.25+2.25%x2.25
is equal to :

[2.75 x2.75%x2.75 - 2.25 x 2.25 x 2.25]

2.75x2.75+2.75x2.25+2.25x2.25

w e 2
@ -5 M 0.5
fc) - 0.5 ) 5

98. The greatest among

V7 -5, 5 -3 o -7 V11— is:
T wha o T v &

V7 -5, J5-3.J9 -7 . 11- o
@ J7-s ) J5 -3
(o) Jo -7 @ Jii-Jo

99, Greatest amohg the numbers

¥o, 3,416,980 is
T | v 7@ FA E: Po,f3,416, 980

) Yo b V3
© %he (@ %so

100. The least one of 2.3 ,2¢5.8
and 32 is




T A TR o 2\!5’2#5"/5 J§+1 Jg—l 113. By how much does (\/E+J1_8) ex-

= = ‘2, Eﬁ
R 32 RN~y ~ov Foni
ed {2V3+242) 2
(e) 2‘/5 (b 2£ a2+ab+b2 - ( ) )
(©. V8 @ 32 {az—ab+b§ hababbal (Viz+i8) & (23+242) fomm
101.  Given that 3 =1.732, the value sifs 22
3 4 3 5
. 3 \[g N (a} a {b} 3 (c) g (d) 3 a2 (b) JE
[0 _ — M
53 - 212 - /32 + 50 Yeaer : 2008 © d 3
m T -g J:; = 1.732 'é' Ht 107. (0.04)19 jg equal to
(0.04)09 ® TR} (5624lf(4376)
3+46 ‘ @25 ({125 (60 (@5 114 5o 4,376) + 4.376x 4.376
595 2013 ~J32 .+ 450 T TAMTN 108, The value of .
(a) 4.899 (b} 2.551 #1372 x $1458 + 3343 is . ‘“ql“alo 248
(c) 1.414 id) 1.732 . () 28 44 “;’ L
102.Given that (5= 2.236 and 1372 x Y1458 = Yoaz FAATEY tc' @
18 1 3 (d 12
P 1 @ (b) 15 (c) 13 (d) . (997) a5
3 =1.732 : the value of is
B e (e 737 SN
J5 = 2236 sk f3 =1.732 fen m B, o a) 1995 B 195
1 fc} 95 @ 10
& 5k FT U ¥ $7 ( 116 Gi
S + 43 iven that .f5-204, then the
(a) 0.564 {b) 0.504 St CRNCANE 35
{c) 0.252 {d) 0.202 T # value of
103. 2¥32 -3%2+ ¥500 = » fa) - 276 {bl ' “
_ 3Vs
(@ 436 b) 3./24 {©) - 243 e ? f5.004 W ofs —o8
© 6¥a (d} 916 J§+J‘ T WH I #?
110 3 simplifies to {a) 0.168 (b 1.68
104. 12412+ /12+...... is equal to (c) 16.8 (@ 168
117.Given that 3 =1.414, then the
Ji2e 124 12e.... Bw=md ( b a6 1
@) 3 b4 (©6 2 (©) d) 33 value of 7
105, If ¥ then the val ! r 2 fem w2 .
. a= —, en e v € - =
2 B ) 2 VRN v 3 s A
. &
Jita *l-a is: 1 1 b
_ + is equal to - (a) 0.414 b 2.414
5 V6 -5 J5-Js 'Scauaite {c) 3.414 (d) 5.414
a-—??ﬁdn ' 1 1 1 118. If /3 = 1.732, is given, then the value
- +
S Jo-J8 B-F7 -6 243
: 1 1 of 573 is
@ J3 ~ iR ETR P B
@s B @3 @o WM J3 = 1.732 fem T &, A %‘i
: _ 2-43
(e 243 2 J_ 112. (JE+~J7+2JB) is equal to = uA
41 J5 -1 {8) 11.732 (b) 13.928
106, Ifa-= N b= NI the (J§+ [7_2J1—0) 2 TR {c) 12.928 (d) 13.925
119.1f x =1 + /5 + f3, then the value of
a? +ab + b* ) @) 2 ®) 7 1
value of ag—ab+b2 ic) \E @ 2J§ (x+—x_l] is
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W xe1+5445 E A (x+x’_1]

= W 37
@ 1+23 B 2+43
() 3+42 @ 2v3-1

1
120.1f X+ —=-2 then the value of
x

2n+1

1
Xt e where n is a positive
integer is

l " 1
qﬁx"'__-z%“} 21 2,“13)1

x

A %,‘ﬂf n T RS TiE )
{a) © M) 2
(c) -2 @ -5

121.1f m and nin > 1) are whole numbers
such that mt =121, the value of {m -
1)™1is
2 m I nfn > 1) i Gm @ R E
Fm=121%, @ (m- )~ WA T
=1

@1 t 10
{c} 121 ) 1000

Year : 2009
1 1

122.5 %8 -7 F1-J6°

i 1

J6-v J5-2"
a5 b4 3 (42

123.{256)*1% x{4)°* iz equal to
(256)016 x(4)0% F wTaR #

Year : 2010
o7 32423
" 302 —243 is squal to
32+ 243 < wmmh
342 - 243
3+248
() 54+2V6 +2
© 5-2J3 {d) 5+2v3

128, Simplified form of

)T

s/a1e
[(sx“”‘") ] FT WElFET TW
.74
1
(a) © B x> o} x (d)'.;

(341 V241 ¥3-1 {2-%

120 | 51" 2o B g
simplified to
-\En V241, J_ 1 2 -1]
:J' ;J" 1 +l_aﬂ

maﬂqm A #
(a) 10 b 12 d) 18
130.Find the yalu x (¥ the expres-

sion : Yax -

:aJ} ggﬁ - Eg)) 16 HAF =29 x H AH AA F)
L .
124.The value of { J_ F) 4 @5
2 2 T+
(0.337 +0.126)" - (0.337 - 0.126) « is equal to :
0.337 x 0.126
(0337 +0.126)° ~(0.337 - 0.126)" JJ: UJE%C = s b
0.337 x0.126 7+
A ¥ 8 12 b) 635
(a) 4 v 0.211
{c} 0.463 id) 0.4246 ©) 6 @ 2435
125, Evaluate (W@ #l1) : 5
12 (Jz“ v i e A ]
16 - i J12,= is equal to
e
(@ 1384 @22 PTSb A -se A
126.If 35y = *¥ = 3, then the = R ¥
value of x
AR’ 30y =81 YRy = 38, W xF U (@ 0 tb) 242
= w © V2 ) 247
42 18 27!
(a) _ () s ) 2
17 133, " is equal to :
© 5 {d) 39
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36

-1

212
1
('E] 2 T 3
1 16
@ ib)
! d
(@ 16 d) -16
13q, 256x256-144x144 . o
112
256 x 256 — 144 x 44
x2 M o am
4
{a) 420 400
() 360 d) 320
135.[8.7x8.7+2x8Y7x1.3+1.3 x 1.3] is
equal to

[8,L*8%7+2x8.7x1.3+1.3 x 1.3 ®

.69 {b) 10
5.69 (d) 100

(3.06)3 -Q ‘98)3
' (3.05.)2 +3.06x1.98 + (1.98)
equal to

(3.06)" -(1.98)’

2 is

L
(3.06)" +3.06 x1.98 + (1.98)’
e #)
{a) 1.08 (b} 5.04
(] 2.16 {d) 1.92
137 3.25 x 3.25+1.75%1.75- 2x325%1.75
' 325x3.25-175x1.75 s
simplified to
3.25 x 3,25+1.75%1,.75 - 2x3.25<1.75
325x3.25-1.75x1.75
aeirpa we A ¥?
(@05 (04 (03 (@02
Las 0.08 % .08 x 0.08 + 0.02 x 0.02 x 0,02
" 0.08x0.08 -0.0016 + 0.02x 0.02
is simplified to :
0.08 x 0,08 x (.08 + 0.02x 0,02 x 0.02
0.08 x 0,08 - 0.0016 + 0.02 x 0,02
wretepa w2
(a} 0.001 ( 0.1
(¢} 0.0016 {dy 0.016
139.The greatest number among

260 348 4% and 52*

is
sﬂﬂmmm!ﬁ?-ﬁ'@—
260,348 436 3R 524
@) 2% (b 3% (4% (@5
140, The greatest among the numbers

J2.43,45,96 is




™ ¥ e W} wEwm wiE-W -
V2,¥3,45,96

@ 2 b 33

© ¢e @ ¥s

141. The largest among the numbers 0.9,

(.97, J0.9,09 is :
™ 3 W T wen IR-d #:-0.9,

©.92, Jo.9,09
(a) 0.9 (by (0.9)2
© Joo @ 09

142,

(a] 3 {b] 4 fc) 6 @ 2
143, 3,’3..'!3_ ... is equal to
(b) 3

© 23 id) 3/3

144. The number which when multiplied

with (\5+J§) gives (Ji5+J1T3) is
w3 @ wen ¥ fd (542) A
FATIROW (V12 +18) 9 oien &1

@ 3y2-2/3 © 32+23
© V6 () 2V3-342
Year : 2011

14 5. The value of

2+¥8 2-y3 341
2-43 2443 3.1 °® ﬁ
2+\/_ 2- J_ J§+1

2-V3 2443 f—lwmwmﬁ

(@) 16+ .3 {b) 45 Jg »sa%

© 2- 3 td}2+
146. The square root of ‘ﬁ;ﬁ
14+6/5 ®I ’%

Yub ¢ /5
; eg% 3+2J_

A e |

147.The value oh)_l
32 43 Yo
- +
:}31-:!'6 161-;2 ;3+\6 =
32 443 Jo

53+;6_w_!6+;2+\_}3+32mmmﬁ|
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{al 4 by O 154. The greatest among the numbers
(€ 2 () 3J6 o5 Y000 3
148.The value of 0.09,70.064 , 0.5 and 5
1 ; , A % 8 w9l w wen w3
+ + +ot
V21 a2 T Jaia m,M,O‘SﬁR‘%
J@l s s @ Jo.09 ) ¥0.064
+
3
) ] ) {c) 0.5 @ 3
b1t 3. I f4+da o7 155A’l[‘)he greatest of the following num-
ers N
3 0.16, Jo.16.,. :-
100 + 99 R ﬁqﬁﬁ‘l‘ﬁ k
(@ 1 (o 9 :
(©) 199 () Jo9 -1 0.16, 5 Y0. Tt (0 15)
Gea o
(0.05)2 + (0‘41)2 + (0‘073)2 o fgi._ 1 ® vo.16
149. 5 5 5=? % 1(c)%0.04 d) (0.16)2
(0.005) +(0‘041) +(0.0073) 156.The greatest of the numbers
(a) 10 (b 100 i h0 ¥8. $13.¥16 Yt s
(¢} 1000 {d) None :;ftlﬁase} % e R w9 g W o R
qHE W
‘;"; % 3.5 0
150.The smallest among | , ‘4413.
___;%r @ $13 b} e
® 2 337 © 91 @ ¥
© ¥4 N Alere equal o/ 0 J2 = 14142, find the value of
151. Among W ’%&L’imbers \[E N
Qf ‘1’/_ %gﬁ greatest one is 20242+ ,/ “l'
f gﬁi‘%‘" 6,932
1a1f ® 5 2J5*‘E+T'2_"T 1T T
5 4o e ) Y32 Ll
‘3;52 The greatest among the numbers {a) 1.4144 (b) 2.8284
(c} 28.284 (d) 2.4142
,Whrlq_’ 1lis
fE A4 @ o o gem ol o R 158.Th f(‘g’r\ﬁ ,
%’%,1%_2‘ . . The square root o m is
(a) 1 ® ¥ (JS +J§J _
© 3 (@ g1z U5 4z ) T @
153. The greatest among the numbers
5,347, 605,242 s @Bl BB
fr 4 ¥ vt wem W oG © 2:¥3 @ V2-43
159. If 0.42 x 100* = 42, then the val
3&)36,6\[;,2\/2_0 of K o - then the value
a) 343 (b) 347 e 0.42 x 100x=42 2, & k¥ 99 7@
FY
(©) 645 (@ 2420 ta) 4 B2 (e 1 (@ 3




1 1 1
160.If 2« = 3% =62 then {—+ —+_] is
X ¥y =

equal to

11
Afe 2x = 3 =67 %ﬁt[—+—+]

X Yy =z
fros T #?
i 0 o 1
© 5 & -3
Year : 2012
1442 1-42
161. @jﬂg‘fﬂ simpiifies to
(1 TEAFE )
@ Js+v6 B 2¥5+6
(@ J5-v6 @ 2J5-3J6

8SC FCI Assistant Grade ITI 25/02/2012

162. When simplified equal to 256 *
is

Jla%]

256 L | AP 7 22
1
@ 8 ® 3
1
(€ 2 @ 3
S8C FCI Assistant Cende IR 25 ,/02/2012
163. 2320 - 43320 + 3¥625 - 335 s
equal to
2330 - 43320 + 33625 - 3Ys F T
2
{a) —2¥340 ) O
© 340 (d) Ye60

i
B8C OGL TIER 16/08/3012

164.

The value of 0. 000125 -is
340.000125 FERAY

(2) 0.005 (b 0. 65

c) 0.5 & & 0,005
mmw&&mmunumu

0.355 x 05@5 x 2.025

0.225 » 1.77% x 0.2222

165. is equal to

0.355 x 0.5555 x 2.025
F amer 2
0.225 x 1.775 x 0.2222

(@} 5.4 b 4.58
() 4.5 (d) 5.45

£5C CHSL DEO ALDC 04/11/2013

Year : 2013
166.The value of a0+ 9431 18

40 + Joda1 N FH T2
@ J111 9 7 d1n

88C CHSL DEC & LDC 20/ 10/ 2013

(x-33) (75 5o}
Fs—do "

the value of x is

) (7 )

J75 - Js0
1 7 T8 FH

@ s
d) 35

(c) Q\E
85C CHEL DEO &1DC 27/10/2013
168. Evaluate (W& i)

4
02 735 -t

(a) 2 B 3
() O d) 242

85C CHBL DBO 8 LDC 27/ mf:iw,s

1 .
=
169.Let 5. J‘ 3- J_ { J—— then

we have

167.1f then

(x
LU LW x

® S

1

{a] ax< 18bhut g =9

(b a% 18
(cfia%-18
(d) &9
23C CHSL DEO &1DC 10/11/2013
Z}O Jf a, b are rationals and

’h\ﬁ+b\r Jos "’JIO_S—J:I_-

,} 2 , then the values of a, b are re-
spectively

S Ol B L v
+J108-a8-J72. % @ a, bW A

HA: T Em?
@ 1, 2 M1, 3
() 2, 1 @ 2,3

8S6C CHEL DEQ & LDC 101172013

171. Let ¥z - 326 + I7 + Y63 then
a5 3o - 326+ 37+ Yea A

(@ a< 729 but q > 216
b a-< 216
{c} a=> 729
(d) a =729
S5C CHSL DEO &LDC 10/11/2013

Wizard of Maths — Rakesh Yadav Sir

172. The value of

J72 x {363 x 175

30 x 147 <252 °©

J72 x 363 x 175 N

32 < ha7 a2mz s
55 45

@ 73 L
45 55

_ ©) 53 4 33

88C MTS 10/03/2013

173. 2 _.- equals to
+T W $ )

-T T— R arm #
@)’ ':.sz) w -(2+3)
eyl @ 2
P 89C COLTIER 21/04/2013
174 If m =A+/p,then B-Ais
4+3\6 s a
= , -A®
7+ 443 A+JB B-A
A 7 Hi
(a) - 13 (b 2413
(c) 13 ) 343 -7
830 COL TIER 19/05/2013
175.Find the simplest value of
250+ 18 -72 (given 2
=1.414).

250 + {18 ~ 72 T TRRFT AR A
Eadl
(fem M #: o =1.414)

{a) 4.242 (b) 9.898
(c) 10.6312 (d) 8.484
86C OOL TIER 19/05/2013
176.The greatest value of the following
numbers

0.16, Jo.16 . (0.16)*, 0.04 is
T § wed WSl Wen w7 @ :

0.16, Jo.16 » (0.16)2, 0.04
{a) 0.16 b) Jo.16
ic} 0.04 (d) (0.16)2

s8¢ CHSL DEO & LDC 10/11/2013
The smallest among the numbers
2250 3!50 5100 and 4?00
F ¥ wad W AEm WA W o
2250 3150 5100 3y 4200
{a) 42 (b) 50
(C] 3150 ld] 2250

s8¢ CHSLDEO & LDC 10/11/2013

177.




178. Which is greater J2 or 3 ?
a5 imand

(a) Cannot be compared

(g T # = wwdt)
b ¥
©@ 3

{d} Equal (=)

85C CHSL DEO & LDC 20/ 10/2013
The total number of prime factors
in 419 x P3x162x11x102 is
410 x TIx162x11x10° F FFaR a1amy

179,

YoEvg #?
(@) 3¢ (b) 35 (¢) 36 (d) 37
£5C CHEL DEO & LDC 37/11/3013

180.The number of prime factors in 63

xT222x gLl

652 x72xgIl ) FEE AT TOTTAVE 27

{a) 1221 (b) 1222

¢ 1111 (d} 1211

86¢ CHSL DEO & LDC 10/11/2013
Find the value of

30+ 430+ 30+ ...,

30 +v30+30+.,., FAAFE

(a} 5 ®) 3410
c) 6 dy 7
S8C COL TIRR O EXAM 29/0%/ 3014

182.The value of JoJa oy .

e, 1A 2
tb} 22 (2 (d) 25
8BC CAL TIER [1 EXAM 29/09/3014
55% +17° _72% 4201960 is equal to
55% +17% ~723 +201960 F a0y #)
@-1 Mo ©1 (17

BAC OGL TIER RE EXAM{2013) 27 /0472014
184, What is the value of

2.75x 2.75x 275~ 2.25 x 225 x 2.25
275x2.75 +2.75x 2.25 + 2.05 x 2.05 °

2.75x 2.75x 2.75 - 2.25 x 2.25 x 2,25 4
275x2.75+2.75%2.254 2.25x2.25

oA T 22
f\v

Hf‘ 102014

181.

is

{a) 2
183.

(a) 2

© 1

185. The value o is

{a) 3

by @
B5C CGL TIER IEXAM 26/10/2014

©6 (d12

'?Ns-mmw v

186.The simplified value of

(\/§+ 1)(10 + \/1_2)(\/1_2 - 2) (5 - \E) is
(\/5 + I)(IO + \/E)(JE —2) (5 - \E)
1 UTEFT O F 27
(a} 16 {b} 88
(c) 176 (d) 132

BAC CAPFu, CISF ASI & DELHI POLICE EXAM 16/1172014
187.The simplifed value of (0.2)* x 200
= 2000 of {0.2)%is
(0.2)* x 200 + 2000 of (0.2)2 F1 TEIFA
M 0 E2
: dy 1
(c} 0 @
88C CHSL DEO EXAM 16/11/23014

188. Arranging the following in descend-
ing order, we pet

¥a,42,9,45

f1=1 %t swFd® w9 w9w:-

¥Y4,2,%3,45
(@) %/Z>\4/g>\/§>e/§
M) ¥s >4 -85 2

1
(@ 100 (b) 50

(C]\/5>2/5>:\3/Z>% ,;&!;‘ ;%‘
(dl?li>1/§>%/3<~/_ =,

86C COL TIER EXAM 19/ m;}
189. What is the pmductﬁ' Qe roots of

the equation ,2 _ @— ?._
-5 1 PAEA
"9 ~

Wi
M7

% a3

RT RE EXAM{2013)37/07/2014

1990. = 320, then the value of
b+ 2m1= 320 %, W o WA I F
*ia) 6 b8 (©5 (d7

83C OGL TIBR I RE EXAM {2013} 27/07/2014
is divisible by
4614492+ 4% + 46+ FRTR faifn 27
W17 03 (911 () 13

$6C CGL TIER I RE £XAM (2013) 20/07/2014

3
192 1f 55 x5% 55 2 = then the

value of a is

5a+2 R

M 5/5x5% £5 2 =5%2,%,F am
AR
(a) 4 M5 (@6 (@8

B5C CGL EXAM 19/10/2014

193. The value of

(3+2J§)_3 +(3 —2\/5)ﬂ3 i

(3 + 2\5)_3 + (3 - zﬁ)ﬂwmrﬂ%?
() 198 b 180
{c} 108 (d) 189

88C CGL EXAM 19/10/2014
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194, 3* -3-! = 486, Find x
3 -31= 486/ x F 9 ¥@ P
(a} 7 }9 ()5 46

88C COL EXAM 26/10/2014
A tap is dripping at a constant rate
into a container. The level (L cm) of
the water in the container is given by
the equation L = 2 — 2!, where t is time
taken in hours . Then the level of wa-
ter in the container at the level of wa-
ter in the container at the start is
TH T4 ¥ Ok T ¥ aman 9 R o
o H U W (L W) R Lot
% 3R i €, et owwg (9 ) wie
2, 3 s ﬁ WAl TR a2

195.

{a} O em ,l 1 em
(c] 2 4 cm
o Be ol EXAM 21/06/2014
196. The val

Z%;E./_\/_J_J_z-
SJ_IS

fJ'ffzJ‘J‘

1 A G FE?

%
(a) O b1 (5 @7

(88C CGL 09-08.2015, Morning}
197. Choose the incorrect relation(s) from

the following;

1 o ) o dv o w02
0 V6 +v2=5+3
) V6 +2 <5443

(i) 6 + V2 » 5 + 3
(@) (i) {b) {ii}
fo) ) and (iii) () (i) and (iii)
(88C CGL 09-08-30185, Morming)

198,
J10+\/25+\/108+d154+\(225
I8
(a) 8 by 4 {c) 1/2 d 2

{CPG 21-06.2015, Morning)
199. The simplified value of

1 1
V2435 "2 -Va-5

1 1
PN JN S -y~

T WEAFT W =0 B ?

faj O {b) 1
1

©) 2 @ 7

{CPO 21-06-2018, Evening)




200.The Simplified value of

Jotz -2 o2
Gifeids Vo 2+
Je+2  Je-2 _ 2
Zif2is Ja-y2-y3 2+V2
W EEiRd WE e 2
@afe M2 (© 3O
{CPO 21-06-2015, Evening)

62+72+82+ 97 +10°

201. \/7+4\/5—J4+2\/5 is equal to/

TR

{a) 2
{c) 0

by 4
id) 1
(DL Mains 13.04-3015)

@30 (M5 (¢ 3 (@2
{BSC LDC 20-13-3015, Morning)
209. The value of

204.The value of

37 55 22
724+ 724+ NT2+.... 08 - +
J sz J2+d7 V745
\/72+J72+J72+.... Rl is:
B W7 55 . 272 -
@O ® 18 ©8 @12 Vs+v2 2447 JT+s
Maing 12-04-2018) qﬁw%?
205.If Jﬁ = 5.745, then the value of the @ 1 (b ©
following is approximately:
% \fa3 - 5,745, FreAfafas w A i©) 23

o Qﬁ
* % 20-13-2015, Evening}

(a) 330 (b) 355 (c) 305 (d) 366 v e €2
[CGL Mains 25-10-2015) 3 210. — » - :
202. (3x—2y) : (2x+3y) = 5: 6, then one 11 4032 7
(@) 3By2 b 247
(@) 0.5223 {b) 6.32
¥ + y_ [i] 2.035 {d) 1 N @ 252
of the value of ‘/- \/_ (88C LDC 12-04-2018, Bvening) 10C 20222015,
206.The exponential form of ‘E x 3 ' tase .
o (3x-2y) : (2x+3y) =5:6 3 is: 11Jn =112 + /343, then the
\/_+y_ m -1 Y w9 = 37 value of n is:
3 mwnﬂwzﬂm? {a) 612 . (b} 612(c) B1/*(d) i ]1J_ =112 + \}'34 , M nFTHA
J_ [sscmcls-n -2018, 1 F?
1 1 @.3 M1l (©13 @7
(a —2—5- R g @ 25 207.The value {B8C LDC 20-12-2015, Eveaing)
0L Mases 235-102015 212.1f 3 = 81 and 81~ = 3, then
203, The value of x
1 1 1 the value of ; is
+ +
1442 243 Jaede
1 1 . @) 15 o 17
al — 27
+ + + 17 30
Js+v6 Vo7 7+
15 17
! is ) 33 (d) 15
Ve + J_ ' »
: (c} v (d) 4(~/_ +V2 ) {88C CPO 20-03-2016, Moming)
15 Mocning 213, If 303x02-5=3327 then the value
1+ J_ \E + J_ J_ 3+ ,/_ 8 ghe value of t';c?:p';‘?szzn of % is:
JG + Jﬁ + JG + ... + uptow is AR 33x925=3=7 Al x F AA L
f+f f+f ()5 b6
% \E+J6+\/6+‘..+upmis aw (97 @8
+ F1 A F0 %‘ .
J8 .,.J‘ ’i i F1UF 0 EN? (S8C CPO{Re} 07-06-2016, Evening)
EE— 5w Ky B
1. @| 10. @] 199 ®| 28. @] 37. (]| 46. (@[55 (|64 (O} | 73 (|82 (b
2. @l 11. ®] 200 ©@| 29. @] 38 (| 47. (@ |56 @ |65 (| 74 @ |83 (D
3. @l 12. @] 21. @] 3. @] 39 (@} 48 @) | 57. ) |66. @ [ 75 (4 |84 ()
4, @] 13. ®| 220 @] 31. (] 40. (©| 49. ® |58 (@ |67. @ | 76. |85 (o)
5. @ 14. @| 23 @ 32 @] 4. @ 50 @[5 (|68 (|77 (|86 {&
6. | 15. @] 2¢4. @@ 33 @ 42. @ | 51. (& |60. (|69 | 78 {4 |87. [
7. @ 16. m| 250 ] 34 @] 43 @[ 520 @le6L f |70 @7 (8. {d
8. o 17. @] 26. o 35 | 4. o) 53 (|62 ® |7l (| 80 B89 @
9 ©| 18. ®| 27. @] 36 @] 45. ®| 54 (@ |63 (g [72. B | 8l. d |90 &)
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91. ()| 104. ()| 117. {a) | 130. @ | 142, @ | 154. (@ | 166. (c} | 178. (o} | 190. (d) |202. {d)
92, fcy; 105. (a) 118, by 131. (@) 143. ) 155. [ 167. ([b) 179. (¢ 191. {a) 1203, (a)
93. (d}| 106. ()| 119. fa) | 132, ()| 144. (o) ] 156. (d) | 168. (o) | 180. i@ | 192. (a) [204. (a)
94. {c}] 107. (| 120. (o 133. (a) 145. () 157. 169, {a) 181. (g 193. (a) {205, ({a}
95. b)) 108, (@ | 121 @[ 134 )| 146. M| 158 @ | 170. @) | 182. (@) | 194. @ [206. (0
2. @) 109. @] 122. @ | 135 @) | 147. | 159. (@ | 171 @ | 183. @) | 195 @) [207. )
97. @B 110. )| 123. )| |46 @ | 148. @) | 160. (@ | 172. @) | 184. (& | 196. (c} |208. (¢
e of k@ @ s o 40 @] 16l 9 | 173 @ | 185 ®) | 197, @@ |209. @)
oo ol 1 9 e o1 188 0| 150 (] 162 @ | 174 @ | 186 () | 198 @ |210. @)
101 @l 11 4 (@) 127 @| 139 ®)| 151 ()] 163 () | 175. (F | 187. (b | 199. () |211. )
102. ) 115. @ | 128 fy| 1400 @ | 152. @) | 164. (b | 176. B} [ 188. (@) [ 200. (d) [212. (d)
103. {o)| 116. | 129. (@ | 141. (@ | 153. jo) | 165 (o | 177. ) | 189. ) | 201. (a) |213. (¢}
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e O o e

1. (¢ (\(E+JE)—(J§+\E)

= 2/3+3y2-Y3-2
= J3+2V2

5+ 296 -k
2.(a) 77 J5+ 26

- (BB

oale < (Y34 B) = B2

a? +b? +2ab = (a+b}?

YRR

3-2

= Ja+dz-3+2
= 22

3@ ot L ¥ea s B

1 1
4
= 2 g+ 13X3 * 2 4

= 27 +442?
= 4+4+4=12

2 ¥32 - 334 +Is00
,3%

= 4% -3% +5% 7,
= 9%z - 3%
> 6%, )

4, (o)

= 292x2x2x4

3. Q)

3(2- V) -
= (2+\E) 2

2 -

2(24-\5)
%)

N | =

B B B B A P G A o S A e S oI A o A A A . A B 3 A A O . A A A5 S

R o o A B o S o

% 0.06 - 0.05
9. o)

SOLUTION

e

6-3J3-4-2{3

- e )
2-5{3

T 2.5t

6.(b}{243)1¢ x(243)%%
= {243)016:00¢ [am xa = am+n]
= 243020

- 20
= 243100

1
243%
= 243 =3

7.(d)  (256)*1 x (256)°%
= (2560.16+0.09

=

.25 q
= 256 = 56t

= ‘\‘/2_56 =4 .%g%.,

8. (o) %
0.06 x 0.06 x 0.06 — oosw x0.05
006x006+006xoésw’05x005

006’-‘«‘ 005!

0.06% + 0,06 X €33+005’

=

=

o Ty (@®+ab+b?)

iy

hp gy d- Db

@, 2= 0.06 , b = 0.05

= {001

0.05 x 0.05 x 0.05 ~ 0.04 x 0.04 x 0.04
0.05 x 0.05 + 0.002 + 0.04 x 0.04

(0.05)° - (0.04)°

0.05% + 0.002 + 0.042

a = 0.05(Description: same as above

question
L = 0.04
a-b
0.01

5.32 x 56 + 5.32 x 44
10 @ (7.66)2 - (2.34)*

= 0.05 - 0.04

U

]

A R B o D T O T

13.
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RN

AR

5.32(56 + 44)
(7.66 - 2.34)(7.66 + 2.34)

5.32(100)

(5.32)(10)

@ ¥.9% . %5 .1

1 1 1 1
ftalke LCM of 34,128 6)
4 3 2 1

412 » 6127 1512 + 24512
1%a% . 1363 . 1315, 13245

, Yoas

12556 » 13216 . 14225
Biggest = ¥4

52 x §?
52+2 - 5

C(a) 271 =243

Jsizn-)l = 353
36“—3 - 315
én -3 =15

6n = 18




15. (d} g:: -(237]2:»1 . )
- Iy2xe1 =2 1 )
: x-+38=6x+3 = (#)3 x(Z]
3 =5 x=1
16. @ (V8-44-2) . 4-2)([1}*2
4
= 2y2-2- 2 . 2o
- 2 -2 - (Y (LJ’E]m
= JE‘2 4 4 4
2 2 0
17. t€) g3 = (23)3 :ﬁ(%J -1
3x2
-2 3 1+\E 1—J§
= 2=4q 23. (o) m*m
3 =3
18, (b) 162+162] _ (1+J£)(J§_J§)+(1_J§)(Jg+5)
| 5 b))
16§+.1_3 :ng—J;+J1_O-Jg+Jg+J§-J1_64J_
N 162 (Jg)z-(\@2
(53 IJ 25 - 26 2(45 /%)
- (4703 = T
42
- (VB-\6) %
1 4097
= 4a+_3 - — 24. (¢ @
3 4 64 2+J§¥+J5_1]
19. (b) 4 = ﬁ@+ 5 Bl
- (24)% (2+ +(2-J§)2+J§_, 5o
(2-Va)(2+s) B o
=>24’<Z =>P=8 .
1 4+3+43+4+3-4J§ (\5-1)2
20- ©  0.01024)5 = PR Mr—

W s

. 2-B)
2
= 14+2-J§-15_J§
(J§+J5]2 (5+B)°
25. ) m = W

Wizard of Maths — Rakesh Yadav Sir

5+3+215  8+2415
= 5+3-215  8-24015
4+J1_5
= 4-s
2
o V5 -3 4-1s
R WP 4+:15

Thus, the expression.

4+15 4o
= +]

4-\1

16+15+ +16+15- 8415
=

16 -15)

:@

. a=65

@ b =35
axa-2xaxh+bxb)

= a*- 2ab + ¥
= (a-bp?

= (6.5 - 3.5
27.

=23=9
fa) a=75andb=25
axa+2ab+bxb

a® + 2ab + b?

(a +bj2 =(7.5 + 2.5 )

(10p2 = 100

Lo

1 1 1
366 = (6’ )3 = 62)(6

]
o0

- )

1

iz
I
125

- %

-4
3

[5}4 625
{2} T 16

30. (a) (256)%16 x (16)0-12
= (4016 x q)zx0us

= 4084 x 4036 o, 406440.36

= 4




31. (g [(JE—\/E)(\E-I-JE)] 1 1 2
=Y = V12-235 V8 -2v15 10+ 2421

- J&&@Jﬁ, 1

5ev24 = (Y (B -2is

6 -4

Z Y5424 12 }
[ 6 (B’ -2

= V54724 5-v2a R

Ny D (Y () <2476
25 - 24

= |2(5-2V6) ! !

= - E-E)

2
NG,
1 1 2 ﬂ/
M A N X

U
-ﬁﬁ__

((B) + (&) - 26543

= y2(+3- J5)2

L (5 45)
= Je-2 . :
Rationalizing in a uation.
1
2 2
32. (c) 643 x 272 4 g° N 1 +5
37 - \E + 45
1 1 3
2 2 2 -
= [(4)3x§ X(lJ +l] 3 +v3
2
G-
+
; RN N

7445 (\E+J§) (J’;—JE)
2 2 T 2

L Y7o V5-B-74 3

2

= 0

1
3. @ J11+230 - [T 050

= J(¥8)° +(5)’ +2/65

= l2-vax3s ~ ys-_Jaxis

1

= (o) s (B) + 246

2

- J10+J4><21

&1‘5 +4.7+3.8)

Wizard of Maths - Rakesh Yadav Sir

- (£+£)2-](’F@?

+ —.1
Yo+ s V6 + 5

Rationalising above equation
1 -5
1 JE + Jg - x
;}6 + 35 I|_f6 _ ?5
= &+ - (Vo-45)
> Jo+5 5
= 25

(35)S + W71 +(3.8°% -3x1.5x

35. (¢ hﬁ +(4.77 +(3.87 --1.5x4.7 -

47x 3.8
4.7x3.8-3.8x1.5

{1.5+4.7%2+3.8%2-1.5x4.7-4.7x

=
152 +4.7243.8221.5%4.7-4.7x

3.8-3.8x1.5)
3.7-3.8x1.5}
S [@ + B +c® - 3abe ={a + b+ ¢) (aF + B?
+ ¢*- ab - be-cal
= 1.5+ 47 + 3.8 =100
= 10

1 1
(6.25)2 x(0.0144)2 +1

36. (d) 1 1
(0.027)3 x(81)4

(25x0.12)+1  03+1 13

= = =
03x3 09 0.9

=1.44,.....= 14

37. (¢}

0.41x0.41x0.41+0.69 x 0.69 x 0.69
0.41x 0.41-0.41 x 0.69 + 0.69 x 0.69
(0.41)* +(0.69)°
= (0.41)2-0.41x0.69+ (0.69)
-+ [a%+b*=(atb)(a’+b*-ab)]

= 0.41 +0.69 = 1.10
38. (o)

©s5y, J0495, 0008, 023
. L 4 .
0.25 0.7 0.23

least




39. {a) = 23-1=13

35><0.20 31 3
%f ‘12- éjf #f = m’m = 7_1 s 48. ©
y (2.89)°° 2-(0.5)° K3 Joooa
4 2 ¥ 2 44, ) {-J3+ 34807+ 443 2‘%9‘/‘» 2 325 , l
{ N2 4 s

P A S R LLAIEIERE P l

1.7
L.75

R ST 2 A o= 4

Assending order :
Y256 Y64 &) %25 = J“6+J3+8(2* ¥a) 02 < ; r7:"32 <175

Descending order:

3/0.008 > < 2- (0.5
13256 > Y135 => Wed > 96 = y~V3+V3+1648V3 B
2 12 = 30,15
e T O o it
Q‘ = 3032768
40. {¢) 5
(2.89)" 2-{0.5¢ 1+ Kk = =3+ (4+\[3-) f LVE I UL S 3(3310
v ) 1-Yo . - 30
(2.391'5{0 2-0.25 I} =>J-J31a+3 = Ja =2 V59049
1+ 0.5 /6 = 3¢ 5
6 = 616 56590 =
‘]2189 ?1;5 Y 4S. (b} ¥0.004096 %o %>
: - 3
17 1.75 15" = Joe (16° = 4 f7776
5 145 6720  — 3
% = Jo4x04 ¥5 25 s ¥
Greatest = 0.4 QJ - =3%se2s
M@ 46. ® 3418 So J3is the greatest
' 98
vz ¥ 5 S 50. (a) J2 = 1414 y
‘ 1 n i )
2% 3* o 2% = A X‘EJ,Q“EME = Je+2/32- 3128 *450
Fha 3% 532 othe % 2 x 7 72
1 : + n = 22+2x4J§—3x8J§ +4 x5.fo
127 125 195 1 x2x¥3  7x\2 32
¢ ! 4 v K 2x V7 2x43xdT 4 = 22*8f2 242+ 202
1% 21 125 1276
t = o
3x1.414

Grea = s - 10605 = 6x 1414 = 8.484
42 (d) 12529 x 6251/4n = Approx = 1.0606 5 5x3  [i5
@ o = N
3 3x3 9

53243 x gan-1y4 47. (a) 31.
23%x23x23-1
2.3x23+23+1 Jis

x> a=23 - —5—
ON3 ) b=1
0. ) (243) x(243)0 o7 588
- |a - 3 . -
7025 0075 07 - a’-b = —5T =123
a‘*+ab+ bP
9430.13+0.07 52.(d) 3433 =3x3=9
= 7025 X075, 3x03 (a-b)(a*+ab+5?)
. = (a’ +ab+ b*) .. Required rationalising factor is J§
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Now add all them

J3.25 - J2.25 + Ja.25 - J3.25

53.{c) x= 242442t (3-2\/5]3 . (3+2J§J3

9-8 9-8
=24 Joi oy e 3 +y525 - Ja25 + J6.25- J5.25
X =2 4x = (3-242) +(3+2J5)3
X* -x-2=0 ) = Jga5 - o025 =25-15=1
X -2x+x-2=0 a=3-2/2 o
Xx-2) 1 (x-2)=10 - 37 +3"
(x+ 1) (x-2 =0 b=3+ 22 59. ) T30
x =2 a*+ b= (a+ bja®+ b*- ab)
Shortcut Method = @B-gf2 +3+2J6)17+17-1)
When the question is in this form - (6)(33) 1s l i
3
N N 198 :
1.e K+ e = = 7 ﬂ
Vs a3 22 ’\
Then factor the zxn nl > n2 57. (a) m-m + m
nl n2
S 10.3 ¥3x10.3+1
mi iy E o (B3-2) 60. () WX
= x - ﬁ.3x10.3—10.3+1
Bl -2 et
S0 nl is answer 24242 \ 3
Wi fa-dB| 25 (F-5) N\ \ Mo s
@ x 1 Bz I5 -2 -3 10.3) -103+(1)
S4. (a)
_ f @
2+ Jo.09- Yo.008 - 75% of 2.80 = fis ;/E \a (103+1) (10. 3) +(1) -103»:1)
3-
' 2
3 (10.3)° ~10.3+1
= 2+0.3—0.2—(ZX2.80J 2\/—(\/— J_)
= 2+03-02-210 = 10.3+1 = 113
= 23-23=0
61. (d 1.49x149-0.51x5.1
= ; 5
55. (c) (¥2.5 +325) s - Joa{ *V10 - 12.9-51
2 2 = 15 - V10 I 6+J_-J_
{(%’3.5) - Y875 +(325) } -~ 0 149 149 051 51
100 10 100 10
= r 1 ¥3.25 - J2.25 = 149 51
T 58. (B N8 + 225 ¥3.25 - 4225 10 10
y= % A . . .
= k) by ¥ 3.25 - J2.25
= ®+y 1492 51%
¥s ¥s _ 1000 1000
= ( ) ( ) = J325-42.25 - (i) 149 - 51
= 35+25=6 % . R
6. ¢ \@; Similerly: o554 Y525
\ = J425 -\3.25 .-t ——(1492 517)
= = L__
! —(149—51)
= J5.25 + y4.25 10
- = ¥5.25-+4.25 (i) 1(149 - 51)(149 + 51)
3 1 = 100 (149 - 51)
1 3-242 = Jo.25 + 525
x 200
(+242) 3-202 > 625 - 825 ) - To e

Wizard of Maths —~ Rakesh Yadav Sir. I
!



62,

=

= (02)’

i

64.

=

. (e}

b} (0.04)%5
15

(G

=

1

1 1

:'0008

1000

== 125
8

0.96° - 0.1?
0.96% + 0.096 + 0,12
a= 096
b=0.1

aa_bs

a?+ab+ b?

(a—b)(a‘-‘+b’+ab)
(a?+ ab+ b3)

a-b

0.96 - 0.1 = 0.86

64 - 0.008
16+ 0.8 +0.04

(4)° - (02)°

(4)2+4x02+(02)

®)

(4-02)(42++0.22 4+ 4 2 0.2)

4%+ 4 % (0.2 +0.22
4-02=38

O 447
8+2\/'-7-

(J_+1) 2
W = {T(\F/n)}

2 7 5
66. ) J?Js hz2-5 " i2- 7

2 J7 -5
= G7+ng:}7—35+
r {(2:46)
h2-F " (h2es) "
[ 5 ><\h—znﬁJ
512—37 Jl2+]7
(F-6) ().
2

5

=

= J’?-JE+J1_2+J§—\/1_2-~E

= 0

2
67. {a) (EJ

- o=

Now put values

= Ji-J3eE-VErvE-EedT -
645 - 7+ 5-4B
> -3

Wizard of Maths - Rakesh Yadav Sir

== 3- Jg
69. (b) (16§76 x (16)% x (2)02
= 16016:0.04 5002
= {21]0.20 x 202
= 208 x902
= 20_3+0.2
= 2l=2
0. J100 + Voo
D 3__ oo 7100 + Joo
Jloo +99
= 100 « /o9
Slmllarly
99 — :> J'E +/08
= J98 + Jo7
@ expressnon
100 + 99 - Voo - o8 + J_s +Jo7
2+1
\J'100+I =10+1=11

1
71. (g [m*’m]
1
(V2 +45)+(45)
(V2 + )« (+5)
J§+\/5+\E ‘E+J§+\E

= =
2+342V6-5 26
Similarly

+(JE-J§)+(J§)
) @ E)E

5

-2v6
Now put the value in question

(2+5+5) (VE-3+5)
B O R

V2¢3+¥5-2+43-5

l\)
&;—n

::»(J‘
G-

=

&

= 2\{3
23 1
= ﬂg :75




72. (b

73.

74.

y

75.

TR e
QU3 212 x3V3 x 32

2516 x 356 = B

@ {(_ 2)(—2) 1—2

1
Y]

(=)

1
—-F
(-2)
2)* =16

d 0.796 = a,
According to guestion

0.204 = b

_b? (a-b)(a+b)

a-b = (a-b)
a+b = 0.796 + 0.204
1.000

3
(2.3)° +0.027

@ (2.3)2 -0.69+0.09

(2‘3)3 + (c»‘3)3

(2.3)2 -0.69 + (0.3)2

a= 23, b=03

a*+b®

- ——
a®-ab+b?

=

(a + b)(a’ + b~ ab)

(a® - ab + b?)
a+b
2.3 + 0.3
2.60
. d) a=S571,b=27

axaxa-bxbxhb

xb®\‘
a* +ab+

(a - b)(:‘.l2 + B ab)

(a'-'+ab + b’)

axataxb+

~p?

{(a -b)

= 5.71 - 2.799
= 2.92

NG

77. {c]

.58 +@.77 + 3.8°
) 152+ (@7 +(3.8P -1.5x47

-3x1.5x4.7x3.8
4. Tx3.8-3.8x1.5

= =15 =>b=47
= c= 318
a+ b?+c% - 3abe
= at+ b +ci-ab-bc-ca
(a+b+c)(a?+b?4c?-ab-be-ca)
= (a2+b°+c’—ab—bc—oa)
= a+h+t+c
= 1.5+ 47+ 3.8 =100 = 10
78. (a] a = 0.73, b = 0.27
a®+ b
= a*+ b® - ab
(a+b)(a2+b2—ab)
= (a’+b°—ab)
= a+bh =073+ 027 =1
79.
=
=
1
| - —
7
" 80. (b) 2'=:- 6
= [23}«1_ 64n = 84n ~ o
= (82]'2!1 —_— {62}2n
= 647 - 36" (n=1)
= 64% - 36
= (64 + 36) (64 - 36)
= 100x28, = 100 Ans
2
8.4 JE4v5 = (VB+\B)
=8+ 5+ nfao = 13+ 240

(W7 +6) » (T +6)2 = 7T+6+2/42

Wizard of Maths — Rakesh Yadav Sir

= 134242

= (V10+43)=(\10+3)
= 1043+2J30 =13+230
o iz ()

= 114242422 21342422
J_1+f

82,

J_ 22 -2 W_» %6_4
= %_ 33—>3 - 34—«)1%(-
= 4\{_ 412 - lq‘l——b

L 2
-66-96 192 1

(d] r J_ (JE""Jﬁ)x

(J_9+f ) | 1917
319 + 317 319 + Jl :1'19 + 31

Similarly (J— n ) = m

2
-3 = [ —=—
€5-) 5+
Largest + (Because, Same Numerator is
dividided by Smallest denominator)
84, (c)

® s 0°
2% 3k 5%
v 1 : ¢
2% 3% 5% 1.5%
: 1 . 1
g2 45 o 65"
i 1 1 .
f[4 6 %7 6f25 6135
Largest
85, (o) .
2% 3% 4% 5%
252 3% a2 sHhe
1 n l 4
ey ey ey )"
@y e @56)" 25y
Largest
ou



86.

=

=

87.(c}

§8.

=

= &

=
==

89.

Y 5
4% 45 6% 8%

4
EL P!
1
Q\T"
L
- 1255 12518

+
=

a1
ol én

+

gy

@ x-=
2

JEJE(J_J_)

Similarly y = = 7.
5443

X"'y

5+3+2J15+5+3-2415

2

16-8 A
5 ns

173
\E =1732=> — Ans.
100

(d} 0.75 = a, 0.25=b

axa-2xaxb+bxb

- 2ab + b? = (a-b)?

(0.75 - 0.25)

(0.50)2 = 0.2500 Ans.

(a)

4116 &g
1
a2
i

12,,'32
+

12k4

A 4
4‘9'12 6312

:z‘ﬁ‘ 1%

Largest
Ans_[4

90.

=

12

®) 3+35+2\_1"2

12(3+5 - 242)
[(3+\E)+2J§][(3+J§)—2J5

12(3+J_ QJ_
(245) - (23)° ‘\\,
12(3+ 5 -
9+5
3+M) 2(3+5-242)
6J§+5 N
2(3+ V5 -242)(V5 -1)

(&0 )

(5 6

9].

2(3V5 +5 -2V10 - 3 -5 +2V2)

5-1
2(2V5 + 242 - 2410+ 2)
4
2x2(J§+J§-J1_0+1)
4

V5442 -J10+1
1 1 1
e Y S N P

1 1 1
+75+3+J5_m

3+

3 —
3+ ! _3@

3 3
3+L 1

BB T3
) 8- 2415

W52 + 16312 - 245

1/2
29}'2.23]2
8 - —"1_"
2x
2

= [8- (212f2 )U2]

L

= [8-8] = O Ans.
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Ans.

o 2 26 \ 243
- 6143 J3+1 J6+2

32 We-v3) { 2¥6 JE-ll
=(36+33"36-33]‘[3§ﬁ’m
{ 23 xJE-z]

Jor2 V6-2
345 (6 - ¥5) gJa(Ja-l)J
= 3 B

- +JE+JE—2J§
W3 = 2f3-243=0

1 1 1 1
—t—+ + +
14 4.7 7.10 10.13 13.16
ormula:

1 1 1
Difference of [ﬁm value Last valuej’
denominator vahue

1[ 1111 1.1 1 1 1}
= o]l — === -
3l 379 7T 00 B e .

l[ 1] 1 15 5
= z|1-—= = X =
3l 16 3 16 16
96. (c) a 137, b= 133

axa+bxb+ab

axaxa-bxbxb
a?+b*+ab
_b3

at+ b +ab 1
{a - bjla® + b2 + ab) = a-»b

11
= 137-133 4 "0

97. () a = 2.75,

a3—b3

b = 2.25

a*+ab+ b?
{a - blia? + ab + b3
a2+ ab + b?
= 2.5 - 225

= (a-b)
= 0.50




98. (b)

(FeB)
‘E“"’_’ﬁ(‘g“""_’)(ﬁ“/a) "7 R)
2

= JE_JE: J§+J§ Largest

= J_ =

b=y

R E Ty

J5-43
99.(a)

3o B 416 6/80
s 1 1 4
ok 3% 16% 80%
1 i 1 4
9"/12 3712 1512 809712

{ i 1 1
12f5° Hﬁ?‘z 1216 1280?

Square of 81 is largest . 5o Ans 9/6
100. {c}

w3k 4f5ae Jg s
12% 80% sk 18%
4 1 + 1
12%  so% 8% 18%
4 + i +
41as  4so  |Yes 324

smallest
J§ is answer
3+Ja
10t. () 533—2312—33%350
3+JE
= 5{3-2x2d3-4J2+5¢2
3+Jg %
= 53-4af3- PPN
34-\/_-
- 3+42
102. (¢) \. '
1 f 3 J_ f 2236-1.732
T5id 55 2

0.504
= —2—-0252

103. (9

2%-3%+M

Y8 xa-a¥a.+¥s3 x4
—2x2%4-3%a .+ 534

=o¥a -

=634

3¥4

1040 10412412 F......
¢ N\

@ x5

3 3
105. (a) a= — —a+ 1= —
2 2

J5+2
=

2

4+2J_
p—13

s

Ri0)

a+l= (J§+1)

Simila

SN
PR

put valuedy

1 V3-
+

+1

1 J3s1443-1 243

=
2 2 2

> G

106. (b)

. J§+1+J§—1
+ =
& 35*1 35+1

(J§+ 1)2 : (J§ - 1)2

=

(V5 -1)(V5 +1)

5-1

\/§+1 \E’—-l

Pt E B

2

(] 2
— 4

Wizard of Maths - Rakesh Yadav Sir

put value in expression

{a+ b)2 ~ab
e A
(a+b)" -3ab

a+ab+b*

:> —— -
a?—-ab+b®

32_1 9-1

3° -

(0.04)1

“1

Wil

107. (b)

= (o. 04) —77

30.000064 . %
AN

1 000

= 125
WS Y343

2 3 1
:}5+33_:}6—33+36+35]
2 J5-\3
= 35+J ETT

3 Jghﬁ
36—J3x36+]3

1 Je-45
* :1'6+]5x:]6—:;5
2(f J-) 3(\E+J_) Jo-5
5-3 6-3  6-5
= J5-3-J6-3+f6-45
> 23

&
)

+ 3-\5]

110 () [ - 3+42

3+

> 4
W?p
51

+

U
ﬁ
%)

ape
3
P
e

(o) (B-4)

3-2 3-2

- (3+2+2J€)-(3+2-2JE)
= aJ6

po—

419



35
116. (b) m

+ 9-8
= o8 3x2.24
1 2x224-045 (V5 7229
Stmilacly, T Ve +7 6.72 6.72
1 = 448-04s8 = g4
F e~ V16 = 1.68
1
1
ﬂ'\[éhﬁ n7. @ 5,7
1 1 J2-
;5—J4=Jg+\[z = J2+1 :}2—1
Now put in the question . «E !
= (J§+J§)_(J§+J~7)+(ﬁ+£)_ = 2+l -1
Vo +v5) « (V5444 i
( * )*( * ) :f::(@_l)
= J§+J§-J§—\E+\ﬁ+\’_— K
= 1.414 -1
JG_—J§+ ¥5+ V4 = 0.414 _
= Jo+a 118, (b) f3 = 1.732 ‘\
= 3+2=95 o
2+J§ 2+\/§ (2+J§)

112. {c} (J5+ V7 - 2J1_0)
= 2+ J(:?.)2 + (J§)2 -2J542

= (45 - E)
= JEH/E—JE
=5
113. (o) (J1_2+J1_8)-(2J5+2J5)
= 2J3+32-2V3-2/2
= 2

114. (a) a = 5,624, = 4.376

a‘+ b (a+b)(a'*+b’— ) = 14243
= @ —abr b - - A 120. (c) Shortcut method
\! l\t

'J—C’:+
1+32+33—1

Va5, B2

3-2

={a+b
= 5.624+ 4,376

1
X+ —=-2
ko

= 10 Let x= -1
i
= ~1+-—= .2 (matched, so x = -1)
115. {d) -1
Putn =1
2
(998) _(9 xﬁnﬂ*‘;‘:lm
NGt
1 1
1995}~ 45 1950 = Xt = DEIP+ , 3= -
= g—-—)—— = — =10 x* (—l)
195 195

T 2-8B" 2.0 :’/‘QS
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121. (d) m" = 121 = 117

=m= 11
=>n =2
= (m - 1)~

= (11 -1)*1= 10° = 1000

1
122, (a) m;
1 3+J§ 3+J§
b9
= 3-V8 3148 9-8
= 3+\/§

Similarly, 5 © {
= iz Y7

%g =746

H

S VB

0 ==‘3gl__2 =Jg+2

Put value in question

= (3+ Jg)—(\/g+\f’_!)+(\ﬁ+\/g)
-(JE+J§)+(J§+2)
= 3+J§-J§—ﬁ+\ﬁ+wf5—~/5~\f§+w/§+2

=3+2=35
123. (d) 256016 x40.36
= 44%0.16540.36

= 4064 036, g1, 4
124. (a) Let 0.337 = x and 0.126 = y

Now, expression is

(a+5)* (-5 b _

ab ab
oo
@ 160~ 9.
3 4x3
:.161/ X4_9J .
4x4 3x3

iz o1z

= 16—

3

4

= 412 - 312

= iz

= 3.46




126. (c) 3** = 81 _
° 3oy = 3 :>3+1+2J5+2+1+2J§+3+1-2J5 12 2
= x+y=4 o) 2 1 2 133. @) ||| 73
81=-r =3
-ty = 3" L291-22
=4x 4y = 1 o fid) 1 gy~2%-1
From equation (1] and {ii} = 9 \[‘ J“ _l
4x -4y = +Y34+3+24y24+42-434+3-242 = >
4x + 4y = 16 =10
8x =17 . 4
0. 1) =
X= — 4 =|-- = [--— = —
8 ( (3x+1)) =2 2 2 16
32+ 243 256 x 296 A4 x 144
127. 1 x x
® 3B 2 (3 +1)4"Z - 16 134. {b} %
3W2+2¥3 342+23 =15 x=5 ,
= af2-243 3223 =B~ = _ (2s6)" S Oke)
131. (a) + "\ 11
2 7445 7T -+
(3v2+ 243) TANS TN ’\3
= e
18 -12 (\E“E) (‘E"E) 11)1(2400) = 400
= (J7+48) (V7 - Vs
. 18 +12 + 2x 3 x2¥3.42 (Y7+s) *( ) @ 2= 87, b= 13
6
30 +12V6 (J?+J§)(J”_{ @ =axa+2xaxb+bxb}
+
= —E_ :51-2\/6 (\/;'—\[5_)(\{;-# 5 = (a? +2ab + b?)
= (a+ b
378 —5}'3"‘5 (\f_ \l_) (J;+J_‘N1 = (8.7 +1.3)?
128. (@) (%x ) = (10] = 100
- , 136. (@) a = 3.06, b= 1.98
5 _s/37TS 1T -6
= (X_Q_S] =[[J¢5J 04 @ al+axb+b?
L2
A (a - b)(a2 +b%+ ab)
132. (d] = a?+ab + b*
= '%*s_x-l = l 1 l J_ :{a b}
x x TT*j'T’fz-z 2 -
7446 vB -7 = 3.06 - 1.98 = 1.08
(\En 241 3-1 2-1 v 137. ) a = 325, b=175
129. T— -2 1
(8} T— T-_ 3+1 E“ N J_ > J_ N TT‘?- axa+bxb-2xaxb
= axa-bxh
(J5+1) (3+1) J‘ R~ ~ N -
= (=) (B 1 JBot JBay7 T %2 @'+ - 200
(5 ( +) e
T_ zx(J_ 2) (J_ J_) J8 447 (a-b) ab
3+1 6-4 7-6 8-7 = (a-b)(@asb) " asb
+2- 22
(‘E“) ( ) (‘/—" 3.25-1.75
o, 2o
-1 = J6-2447 -6+ VB + 7 42-242 3.25+1.75
& 1)2 = o -2+47 -6+ 242+ 742-282 1.50 3
+( B = =00 =E::»03
BTV = 27 :

=]
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138. (b} a = 0.08, b =0.02

axaxa+bxbxhb

= axa—-ab+bxhb

a®*+ b?
a?-ab+b?
(a+b)(a“ —ab+b2)
a? —~ab+ b?
= a+bhb
= 0.08 + 0.02 = 0.10
139, (b) 20— (252 > (32)'2
= 3% 5 (392 5 (81)'?
= €5 {4912 (64)'2

:5‘24_>[52112_)[25]|2 :343
140. (@&} 2 ¥ ¥ ¥
1 1 4 s
2k 3k s¥ 6%
& 4 1 4
2?12 3‘%2 5:%2 6%2
+ 1 + 4
7 @
1 & + +
Wed  @El 125 36
T
Greatest
= ¥
141. (d} 09 0.9 s 0%
.
) 0.95 9
l E)
0.9 81 0.95 ‘f
= 09
142, {b] Shortcut methed ra
L/12+ V12412 §.¢
@ x 3 =k, ‘.
take closest factor and | 1i;geht s an-
SWer i?

143. (b} ,’ %k

%
Shortcut method i ’%;..

= When%zu%wn in from
= Yndnvn

=80 n is answer
=3

144, (c) shortcut method
Take out option and try

Let number is Jg

= e (V5 4 43) -T2
= 5+ 13 = 3+ i

Matched
So this is answer

2+\/§ 2—\6 \EH.
2-V3 2143 3.1

(2+J§X2+J§] (2-\/5)(2-\/5
2-¥3 2+¥3)  2sfz 2-43

(\EH"\E”J
Ao Bt

(23)" (- 5)°

4-3 4-3

145. (a)

+(J5+1)2

3-1

> 4+3+4f3 +4+3-4 3+[Mi§]
2k

=>7+7+2+J§ =>16+\[§
146. (b} 14 + 645
= (O +(B) 20355
(3+\/g)2 :’8; 5
W2, 4 J6
147.¢b) m_ . 5
oo _L);I"(rationalisation]
W2 -l V5o
B T R
b -
-\}3+J \E-E
2E( - ) [MJ
6-3 6-2 *
Jo (3 - l2)
C3-2

= 12 -6 - (15 - &)+ 5 -

|

=>V2-V6 -8+ 6+ 18- V12 = ©

1 J2-1

1
LN TN SN SO
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Similarly

1
= 75:‘35 =J§_J§ and so on.

Now put value

o 2143 DA F e
*+J100 -Vo9

100 — 1 5_‘__:>,_%§¥J -1=9

149. (b) Let P = 0{5%

o
— =%0.005
19

T

then ,

Let 0.41 &.q

‘amd 01073 =

According to question

Preg*srt
' 2 2 2
P q [r
—| «| =] ¢ =
(10] (101 10]

E(p?+q +r2) = 100
150. (c) 912 ¥ Ya
4 4 1
(1276 312 qum
1 4 2
1222 gz gane
N 4 4
4ae a1 ea
l
Smallest
151. (b) o Yo N6 a2
4 { i 4
141 ¥ 2 2

Jo>202x2x2=8,50 ¥5,2)

3J¢3 (greatest one)




1
152. (b} Y3 4 12 1 . NEW
v D 4 BRI
3[.-’4 41}5 12”10 1 J_ J_ J§+J§
{ 1 { W T—_ x N
35;20 44;20 122;20 1
, 4 { 4 f 3, 5
2 2 2 = 3
43 ¥2s6  2Thasa 1 I 2 *
153. (¢) 342 a7 &5 220 159 (¢) 0.42 x100* = 42
= putk=1
v 4 ‘l' + = 0.42 x 100! = 42
Jo9x2 Jox7 J36x5 J4x20 = 42 = 42 Matched

Sok=1

= 4 x¥axaxaxs
= 4 x43s
= 165
= 34625
= %5555
= 3*5%
= 1535

Now put the value in question

= 4%5 - 16 Yo 15¥5-3F5
:>19%F %

v + 4 160. () 2= ¥ = 6= = k
Jis  Jes J80 Jeo T 2TkMm3sKMm6=k 164. {b) ¥0.00
2x3=6
154. (@) Jooo Jo.064 05 3/5 KR XKy = kU ;ﬁ::gsw.osm.os = 0.05
1 1 1 1 rr 1 1 1 1 55x(0.5555x2.025
03 04 03 0.6 x'y z 2T 0225x1775><0 2222
155. {5 016 Y016 (016) 004 1443 _ 35555552025
- 161. 75 x
. . . . (c) m ﬂ = 2251775 x 2222
0.16 0.40  0.0256 0.04 1x5 x 81
(B RUEEY =T =
156. (d) %8 $a e Ha @ f
+
$ X8 ) il 166. (¢} 40 + you'81
gz 1314 1645 41U
gtoz0 13520 1G4 41220 = ¥5 -3+ 10 - Ve -10-46 = J40+ 9= 90 _
NR 4 1 + 5o = J40+9 = Ja9 =7
25 - 26 2{V5 - V6
20610 2055 2%he* a2 = (—-2—) ( - 24) (V75 + V50 )
167.
$ 4 l 1 J75 - Js0
We®  MWha® HKhe® a2 i} (e—57) V75 - J50
1 1 [—312] _[% } = 75 + 450
157. B)2v2+v2 * 5, 5 “2-43 256 2
(JE*JS_O)
_[1 o (x-v22) DT
= 8 75 -50
( 2-y2-2- 256
+ —
> 2242 2+ ) e (- 29) _ 75450 - 275750
\ 25648 25
-2V2 125 - 2x 543 x 542
= 2y2442+ 1 . o (x-\22) - V3 x 542
4 = Bx—i = 25
5 8 2 i
125 - 506
= 2¥2 442 - 163. {b) 3(,;-@) T
Y0 = 2x¥2x2x2x5 %
- 25(5-2J6
:>2J§+\EJ§ = 2x235 2(){_@) - ( )
25
= 22 ~ 4%
=2 x 1.4142 = x-206 =s5-2V6
= 2.8284 = 49320 = x=5

Wizard of Maths — Rakesh Yadav Sir




168. {c)
4
J20 + 12 ¢ %’729—7;‘_—‘]5—\/5
4 Jg+ \E]

=~2J§+2J§+9—[7;ﬂ;*m -9

()
=025+ 2f3+9- |7 5 I~

= 2y5+2/3+ 9 - 2J5-2/3-9

=0

1 1 1
+
169 @ 57 F "3-v8 ‘a-15

1 2+¥3 1 318
> + ®
:>2—J§ 2+43 3-8 3448
1 4+ 15
+ x
4—:1'15 4+315
2+J§+3+J§+4+J1_5
4-3 9-8 16 -15

= 2+J§+3+J§+4+J§

= 9+J5+2J§+JE
a= 9<9+J§+2\E+J1_5<18
V3-1.73,22 =141, V15= 39

=29 <9+ 1.73 + (2 x 1.41}+ 3.9

- 17.4 < 18
170. (a)
av2 * b3 = Jos * Jios - Jag - 72

D JTxTx2*+tJ3x3x3x2x2

“y2x2x2x2x3 ~ Y3x3x2x2x2
= 7J2+63-443 62
a2 +by3 = W2+23

a =1 E}
b =2
171. (a) \

Ya = Y26 +37

Take round figure
= ¥z <
= Ya <3+2
= o <9

= a <%
= a =< 729
Option A is answer

J72 x /363 x 175

172. () 32 x 147 x /252

V2x2x2x3x3x{11x11x3x
J2x2x2x2x 2 x 3 xTxTx "

Jox5x7
32x2x3x3:~<7
642 1143 x 547
= a2 x7/3 x 697
6x11x5 55
= 4x7=6 - 28
2+ 6
173 @ =+ 2+f J_ 2
2x3\/_ 1

= Sxf 2+J_ 2- J_

((2 ¥3)- (24 )
2+28*| (24 ) 2- J‘

175. (b} 2450 + V18 — 72
= 2x5y2 *3V2 - 62

= 1342 - 642
=72 =7 % 1.414 -
=9.898
176. {b)

2
0.16, o6 . (0.16)°,  0.04
l i« ¢ ¢
0.16 ° 04
177. (b) 2% x 2)50
= 3 (3
=51 (59 (25)%

= 47 > (3% > [256)%°

17&@% 3

4
‘ 21;3 3172

\ f,,ﬁ L,
=2+2J5+(2I2[J&&b 2 ‘ ;2_7

= 2+2J_

4+343

4+3J_ 2- J_
= 2+\’_ T A+J_

(4+3v3)(2-V3)
- 4-3
= 8-43 + 63-9=A+/B
= 2/3-1- a+B
A=-1 and JB = 23

B=2f3x2J3 =12
B-A=12-(1) =13

- asfB
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179. {c) 410 x 73 x162 x11 x 107

= (2990 x(7)® x[292 x 11! x 22 x 52

= 22082 x73 11! x 52

= 20% x7? x111x52

Total factors = 30 + 3 + 1 + 2= 36
180. (a) 6> x 722 x gIN

o 2% x 3 x 72 x (2N

= 2066 x 33 x 7222

= Total factors = 666 + 333 + 222 =1221

30 44304 V30 .ooonennn,
AN

CEE

182. (a) x = 2%’4\/2% ........

= Squaring both sides

181. )

= x* =2 4,’2% ......

Now cubing both sides
x5 = 8 x4x

=x%= 32

= g% = 27

=>x=2

183. (bja = 55, b=17
c =-72

at+tb+e=585+17-72=0
at+bP+c-3abe =0
fa+b +¢] =0
answer = 0




184. (d) Let a=2.75 )
b - 208 189. (d) ¥ - /3 =0
Now X~ 3% =0
X - (32 =0
e (x+3YY (x- 3} =0
=» x = 3" or - 3¥*

a? +ab+ b Product of roots

34 x [- (3 = —3

190.{d) 2!+ 2°*' = 320
= 2%(1 + 27 = 320
= 2%I(1 + 27} = 320
= 2"'x 5 = 320

(a - b)(a’ +ab + bz)
(a’ t+ab+ b’)
= 275 - 225

1
= 0.50 = — @
2 = 2rl= s = 64
431'1;"5 N 321"1-!-1 = (2™ = (2)°
185. () — 7 »n="7
9" x 3" 191, (a) 45 + 452 + 45 + 4%
461(40 + 4l + 42 + 43]
35xn;‘5 x32n+1 41 x 85
= —Bp— a1 Now check with option
34R 3 17 is divisible by 83
n 20+l 192. {a) 55 x 59 + 5%2 = 52
- 3" x3 = 5! x 52 x 5% + 532 = Ga+?
32n 3! =  5I*1/2+3-1-¥2 = Gav2
) Al = 51+I12+3+3;2 = sa'z
3n+2n+ g3nt = 56 = sa2
= S2nin-1 = Son-1 = a+2=6
:3(&1*1]—[%—“ :>33n*l-3n¢1 = a=4
=3=9 193(a) (3 +2J_ ) (s- 2J_

186. (o) (3 +1)(10+ V12){( V12 -2)(5-+3) 3
= (V3 +1)(10+28) (243 - 2)(5 - +3) se22 3‘
_ (VB +1)x2(5+8)x2(B-1)(5-B) 7 (3 ﬂf )

= 2x9+6%

= + J—— +\/_- - = x +
(V3 +1)(V3 1)(s 3)(s ) 2 524 27 .
194 -486

486 = 3*! = 243

4[(J§)2 - 12] [(5)2 - (Jg)z] = 3= 86 = 3

19%, (b} A% the start t = 0°

=>4 x2x22 = 176
187. () (0.2p° x 200 + 2000 of {0.2)

o,V 1=2-2
%2—1-1cm
02x0.2x02x200  0.2x200 %R |
2000x02x02 2000 '

P 4 1 1
6.0 7T 6 J6-B5 T
40.0 1

:_2000:5—0 % 1 1 1
188. (a) “ -2 J5-J7 T 3-8

-

(V5 + B)
"o VE)o B

J?+JE_(J€+J§)+

1 1

(+5) (B+37) ($5+46)

1 1 1

N S-S N P

N {
o\

= 4 ++/9
197. {c) from ogtigh (i)
V5443
12 8+2J_
{Squaring both side}
iz« 15

So option (i} is incorrect

From option (ii)

=6 +y2 <5 +43
= 8+2v12 8+ 2415
212 22415

= So option (ii} is correct

= by option (iii)

V6 +42-5443
g+ 2412 > 8+ 2415
2JE<2\[IE

So option (iii) is also incorrect

There for Ans (c) option (i) (iii} are incor-

198. (@

$a. 2. % k = Rationalising 10 + {25 + 108 + Y154 + y225
41:};. éll,rz 3 G;“ ﬁ*‘\[g _ 1 %
i;fl? ;’!1? ‘L 2 5{”13 N (J’?‘*Jg)(ﬁ_‘/g) (Jg_Jg) = 10 £ V25 + 108+J]E
Lo v N ?
13256 Yea 1Yo 1125 "ﬁ . J10+yas+i21 10 + V36
19556 - 12125 » 1¥6a - 130 _ 2

Js + 4 E - 4
% € -6 - )i+ ) MR
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199. (d) According to the question, J_

204, (a)
1 , = ax Eaa () NN T r—

" 3

Lo -B B x 8
1 1 = _2+2J5_2 2+2=0 205. (a) According to question,
= + -
2-&)+ 6 (o-5) 6172 8 1 0% 4102 V33 = 5.745
1@ s - Jas2d3 JE
JE—JE—\/5+J§—\E+J5 11
2 2
= (V2-45)" - (+3) 62 +7% +82 4 9% 4102 [3x11
= \/{2+\/5}2 —J{J5+1}2 11x11 11x11
2(V2 -5) 5.745 o ‘g 0.5223
=
7-2410-3 2. .2 .2 .2 .92
= 6 +77+8 +97+10 206. (¢} Th ext% al form of
2(\/5 Jg) 2+\/§-'\/5-1
L - - [
4-2W10 ="€t2+72+82+92+102 .
L V2-45 = 36+49+64+81+100 = 330 Ans. S A
2—;10
3x-2y 5 1
202. (d ==
_ o (V2 - V5) 1 W sy @ ' 2443 T 1-J2443
=
UE (‘E_‘E) 75 18x - 12y = 10x + 15y
200. (d) 8- 274 = 1+33+J +33_}?
\/g+2 _ \/E—2 _ QJE i 1+J§—\E+1+J§+\E
J§+J2+J§ JE._JQ_JE 2+\/§ -{:Z e (1+J§)2_(J5)2
y 8
+2  Je-2 2 2123 2423
J§+‘E\Fl JE—‘EJ__I V21 %_7 . % T 422 T 2025
2 2
for2)z (Jo-2)\3 % ] =t
6+ 2|42 6-2)4y2
=:»( ) —( ) —J-Q 208. () 6+ 6«6 +........ + o
24¥3+1 2-43+1 V241 {2, 3} are the factor of 6.
= (5)% = 25 Ans.
- If there is 4+’ in ‘\/ > Answer is Highest
JE JE+2 i JE—Q valu‘e. ‘ .
7‘?" (\E*lj (\/3_,—1) It th::uj ~’ in J_, Answer is lowest
2 +1 J§ + J— JZ + \F 35 + 34 Alternate;)
2
XS 6+y6+y6+.. .+
T_2 V6 + 6 + .

+ ‘\“ V6 + J 57 + J :13 + Q J ; {squaring both side)
3\@[\/1_5”2‘6_\/‘ 2 3 Jg+2jl i\fter Rationalizing o 6 r-—-—6+m
3 =

(VZ2-1) (8- 2)+ (V2 - ¥5) (V5 - ) __ oo

2(v2 -1} ['.‘J6+J6+mm- ]
i (V& - &)

2.1 X-x-6=10

-3+ 2x-6 = 0
& (2] (- &)+ (5 -7} (5 - B) T T

= F|p—p— ~2(+2-1) x+2) (x -3
3 = Jo-a =3-1 x#* 2, & x =3
-2 S0, Answer is = 3
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209.ib 212. (d} According to the question
9.(b) 210. (¢} 4032 x V7 :3)@2 a1 agnd 81x—v23
37 545 22

- % x XY = 4 Hxv = '
5T Tk Ja4x9 x4 4x7x7 =3 = (3 and (3) 3
= 4x2x3x7 1
37 ngg-ﬁ__ﬂg = 168 :>x+y=4andx—y=z
T Bz Bk a2 414032 x+y=4..0)
9l1008
V12 22 4745 AlL12 oy = = i)
+ ® —
-8 J1ads s 4|28 4
7 Solve equation (i) and (ii)
37 (V5 -2} s¥s(¥7 -2
S M ek B R R R A

TR ) ()

1 \/; = \(2x2><2x2x7 + J7x7x7 213, (C]3x+3‘x92x =eane?
31'+qu6} 33x+7
2¥2 (V7 - 5} N = 47 +7V7 X+ B Ax—10 = 3%+ 7(
* 2 2 Bas® is egual)
7Y - (Vs - asy i
(7} -{ ) 11dn = 1147 W e 14
B i - 1 5 5 0 o S et
- _ %%w-x—

eshy d(l.l\puhhmlum com
tlipkart.com. amazon.in,
cbay.in, snapdeal.com

EE OF COST

FREE OF COST
1502 40 3344
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